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7  Summary (HENE)

(1) Official in charge of disbursement of the procuring entity : TAKEUCHI
Junichi , Director General of Shikoku Regional Forest Office (VU [EZrE B 5
=)

(2) Classification of the services to be procured : 42 (BUFiHZEMNL B E S 42

RO OOV — A, V=T Y T e = B RAZOMOE Y — B R)

(3) Subject matter of the contract : Landslide investigation in Nishiyama,
Higashiiya, Miyoshi city, Tokushima prefecture (FEEDOWNE : fHEE =4 K
FHATE L O3~ 0 B )

(4) Time limit for the submission of application forms and relevant documents
for the qualification : 5:00 P.M., 27 may 2024 (HAFHEOEHHIIELZ AN)
(5) Time limit for the submission of tenders by electronic bidding system (F&
A) 1 10:00 A.M., 11 June 2024, in case of submission by document (X A%L)

10:00 A.M., 11 June 2024, in case of submission by mail (Ff# AFL) : 5:00
P.M., 10 June 2024

(6) Contact point for tender documentation : Accounting department Shikoku
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Regional Forest Office, 1—3—30 Marunouchi Kochi city Kochi prefecture 780
— 8528 Japan.
TEL 088—821—2011 (AFLIZBEF 2 CEDOHRESE D OFLHE)
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* 18| Bl=B1F ReFETEEZEBEE 0.100] -~ A 34,600 3,460| 34,600 3,460 0.070 2,422
500|EME LB HTREE 8500 % 15,295 1,300] - 0 0 0.000 0
B 16,595 15,295] 0.250] 9,982
B ylil 1.0 [AHY 16,595 :
BEEAGE 15,295
ZTDMEE

data
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TETEEERE +FHE (BREED
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e
I 2 3182 1 BE 55 EGE2| 3182 |mERREEE .
B{lAF [ EER SR 31— No {ER B 1.00 ERREGI] [\ maauEsF| | BTESEBH
g & _ ~ _ 1 2 NEEZEAHE o= ||EeEDSBosEs)
HE[EEN| A T 5 = B} & | BEfu| & B W | & 2 ¢ HE | & 2
* NEEHEFESE |ReFMTERERLE 0.040 A 41,500 1,660] 41,500 1,660 0.040 1,660
* 122EREE ReFZITEELEHLE 0.040[ A 31,400 1,256] 31,400 1,256 0.040 1,256
504\ #1HL & NELBICHTIEE 4.000] % 2,916 117 0 0 0.000 0
701 [ Hh R EEHEETIES |SR-13(1 H/8 AR 75000 & 511 3,833 0 0 0.000 0
5 " 6,866 2,916 0.080| 2,916}
B {iff 1.0 [EHY 6,866 .
EEAGE 2,916]
ZDMRE 3,950

data| (1B%) TEmiE == 0.3873%




=0 2= {3 Al E i 2= o
& 3183 | v BE 55 EZeas| 3183 |EEnnEEER
H{lZ N MR BETENEE 3I—FNo ER B 1.00 {ERL BT A mEn)aLEer| | BEATEAEER
1#® & _ - % 5 NEZEAHE o= ||@EssonEs]
BB |EENe| 2 7 R 1% W = | HEr| & W H il | = &8 i HiE | = 28
* 10| E S E AR ROFEMIEEEHEE 0.100] A 53,200| 5,320| 53,200 5,320 0.000 0
* 1FEEHEREE  |ReFEMMTEEEHEE 0.200] A 41,500| 8,300 41,500 8,300 0.000 0
* - 12|MEREE ReFZMTEEEHE 0.2001 A 31,400 6,280 31,400 6,280 0.000 0
504|#1# & NELEICHTREE . 1.000] % 19,900 199 0 0 0.000 0
B 20,099 19,900| 0.000 0
- B il 1.0 &Y 20,099
EEAGE 19,900
: ZTRMREE ' 199
data| (=)
7




AEEBEE

R
R 3184 | = 55 B ES| 3184 |mEnHEEE
E M4 %5 | Hhoh{RiEET &R 1-FNo B 1.00 {YERG B L [|] aa)AuEER] | RTTEAEBR
B & _ _ i & NERAGE B o= ||[EEssosEs)
HE|BEN.| % i [ 1& B = | Ef1| &= jm B m | & 2 § B& | & 28
* 10| EE S B ReFMEEEBE 0150 A 53,200 7,980] 53,200 7,980 0.150 7,980
* 122\ ERES ReFEMTEEERE 0.150] A 31,400 4710| 31,400 4710 0.150 4710
04| M HE HEEEITHTREE 3.000] % 12,690 381 0 0 0.000 0
H , 13,071 12,690 0.300] 12,690
=1 i 1.0 EHY 13,071
EEALE 12,690
ZDMRE 381
data| (BE) BB ELT Emieidl TLIMIEI6FL 15
7




=5 2 {8 7l B {i 2= "5
FEHES 3185 | BE 55 ZHFES| 3185 |EEHmHEEE
H{fm& 5 |Hhop{aiEet SR 3—FNo ER B 1.00 ERRESI] - B msipalEgm| | BT ENEER
B 5| _ ‘ _ e B NEEAGE B o= |[HEess05Es)
HE | BEN| % T 7 1 W & | Efr| B B m | & 28 i H3 | = 28
* 10| B SR E AR ReFTEELERLE 0.100 A 53,200 5320/ 53,200 5,320 0.000 0
* 12ERES ReFETEEEHE 0.800] A 31,400 25,120 = 31,400 25,120 0.000 0
500|FEME B ST RS 3.000] % 30,440 913 0 0 0.000 0
B ; 31,353 30,440 0.000 0
B i 1.0 H&EY 31,353
EEAEE 30,440
FOHEE 913
datal ({5%) :
7
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I 2 3186 ] RE 55 EE2| 3180 |EEBMEEE
Bl [T EIGNSSEE a—F'No e B 1.00 YERCE T 5] we ez | HIESFERE]
B = _ 2 28 NEEAGE g o= |BEoSsosEs)
S T B 1" W = | B | & B i | = %8 " BHE& | & &8
* 16 ;=R ReFZ T EEEHE 0.060] A 47,100 2,826] 47,100 2,826 0.060 2,826
* | 17 EHEEE ReFZTEELEHE 0.060] A 36,900 2,214] 36,900 2,214 0.060 2,214
501 | M EVAMEEFE] (ResEcHT 588 5.000] % 5,040 252 0 0 0.000 0
502 | BB B L] NeLEcdT 354 1.500] % 5,040 76 0 0 0.000 0
& 5,368 5,040 0.120 5,040
B i 1.0 mIHY 5,368
EEAGE 5,040
: ZTOMFEE 328
datd (&) NEBE=/\{J=aTed MPEEBJIOF) ROEREE DA UBEREHF) =UELHE
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FHED 3187 | BE 55 E5E=| 318 |EEmnEEE
BB |3RITEE BT 1—FNo e B 1.00 {ERCE (L =% meauEsR| | RTESEER
B = _ _ 2 il NEZEA S o= ||BECSL0sES,
W EENe| & i B ® B = | E{z| B Him | & 2 | H# | & &
* | D3BISRITLTEMIT [SRABEETFILEICLS 1.000] =X | 4,560,960 4,560,960|4,560,960] 4,560,960\ EiEAHEE 0.000 0
500|583 & HESECHTREE 3.000] % 4,560,960 136,829| 0 0 0.000 0
E 4,697,789| 4,560,960 0.000 o]
B {ifi 1.0 &Y 4,697,789
EEAGE 4,560,960
‘ Z DR E 136,829
datd] (%) SRR EMETT LFIZESD
7
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FEES | 3188 Be 55 EHeS| 3188 |ponneE=
HEEH |[BAKEHARVERZE 1—FNo ER S B 1.00 {ERLE L A wn)auEsr| | BTESEER
B & _ L P & NEEAGE B o= ||REeSs0sEs)
WREMNo| % FH 5 1% B = | Bz | B | B i | = %8 i Hi& | = 2
* 12(MERES ReFEATEEZERLE 0.550] A 31,400 17,2701 31,400 17,270 0.000 0
* 2|KT ReFEfiTEEEHER 0.300] A 34,600 10,380 0 0 0.000 0
504\ ¥ E - AR RES 1.000| % 27,650| 277 0 0 0.000] - 0
707 | BEREEH  |ssws v mseman 30.000| < H 1,502} 45,060 0 0 0.000 0
& 72,987 17,270] 0.000 0
B i 1.0 A&Y 72,987
EEAHE 17,270
FDMIRE 55,717

date| (B%) B ERE 0.3873%
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FHES 3189 | fEE | 55 BEiEE| 3189 |EEZHETEE
Bla% (BiKEE SARUVEREZEE I—FNo R 1.00 VERLE L B |asmausgs|| BREEAERR
g8 _ i & NEEARE B o= |fRE0ssosEs)
B EENo| & T 5 1% B = | E{1| B B fh | &= 28 | B3 | = 28
* 10[# B SAE AN ReFfiTHEEERE 0.050] A 53,200 2,660| ~ 53,200 2,660 0.000 0
* NFEHEHFES |ReFEMTEREERE 0.780{ = A 41,500 32,370 41,500 32,370 0.000 0
504| M H & HELEIHTBEE 1.000] % 35,030 350 0 0 0.000 0
708| BECKEIEHER  [PCA—FZ 30.000| H 1,735 52,050 0 0 0.000 0
E 87,430 35,030 0.000 0
B i 1.0 A&Y 87,430
EEAGE 35,030
. ZTRMEE 52,400
datal (jB%) BMIEFE 0.3873%
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HBix B
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= 3190 | Be 55 ERES| 3190 |EEnHEEE
BE{l& M | HERKEEERE I-FNo BB 1.00 {ERR B {1 P e mAs)aLEsr| | RITENEER
g & _ _ % 2 REEA B = ||BE0s0sEs)
WE|E{ENe| B 4 = 1% = | B & B i | & %8 i HE | = 28
N EEHEREES |ReEMTEEEHLS 0.330] A - 41,500 13,695] 41,500 13,695 0.000 0
12| ERES ReFfiTEEEREE 0.670] - A 31,400 21,038] = 31,400 21,038 0.000 0
* | J11[FIARK ® 9cm*k4m 0.030| K 840 25 0 0| Effi/(4m/2) 0.000 0
* | 710lmmgre=—n vz —mm |VP40mm 84.000] m 373 31,332 0 0/83.0+1.0 0.000 0
712\ AT )k \whH—|L=1m,86mmH 2.000] K 55,500 111,000 0 0 0.000 0
504|#HE RESHENTREE 5.000] % 31,357 1,568 0 0 0.000 0
709 |4&H#hFE 1.000| % 22.500| - 22,500 0 0 0.000 0
5 201,158 34,733 0.000 0
! i 1.0 H&Y 201,158
EEAGE 34,733
ZTDMRE 166,425

data (f5Z) UIAK MHE BERIEE——IL/X1J MHEHE
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T H 3195 | Be 55 ERE=| 319 | EEnheE=
BElL 3 |3RITEERAEN 1-FNo R & 1.00 YER BT =® Ba)ALEER | HrENAERR
& A _ _ 1 8 RNEEARE B = ||RECSs0sES)
I i 5 ® B = |Ef| B W B i | & 28 | HE | = 2
* | 530|3XRITEBEMMT 1.000] = | 8,039,300/ 8,039,300| 8,039,300| 8,039,300|EEEAEE 0.000 0
500|FE#E RESECHTDEE 10.000] % | 8,039,300 803,930 0 0 0.000 0
B 8,843,230 8,039,300 0.000 0
B {ffi 1.0 Yy 8,843,230
BEEAGE 8,039,300
ZTOHEE 803,930
datal (%)
7




datal (BZ) EMERZ 03873% AR30miBi MILR12

2 2 {8 Al B {f = e
FHES 3210 | - 'S 55 | EhES| 3210 |BEERHEES _
HEEW | TKEEABRER YERL S 1.00 YERR B AL =] dmaalEsm| | HTESNERRK
B & _ _ i il NEZEAHE (REDSLDIHED)
HE | HEN| f& G #H % Hfr| H HE M| £ 2z H# | £ %
10/ E AR ReFZMTEEEHEE A 53,200 38,304| 53,200 38,304 0.720| 38,304
H|ETEHERETE |ReFREEEHLE “A 41,500 29,880/ - 41,500 29,880 0.720{ 29,880
12(MERES ReFEMTEEEHE PN 31,400 41,448| 31,400 41,448 1.320] 41,448
x| 716|811 kg ' 29 0 0 00000 =~ O
500|583 & HESHEICHTIEE % 3] - 0 0 0.000 0
723 F kIR B ERIEHT [vcrooceme. 2597mm) ;= 1,092 655 0 0 0.000 0
B : 110,319 109,632 2.760| 109,632
B {fi 1.0 [E1&Y) 110,319
EEAGE 109,632
ZFDMEE 687
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S E S0
FEEE 3211 | B 55 BERES| 3211 |EenneE= ,
BEA |#TKBEBACGKL)E I-FNo ER & 1.00 YER BT [=] manaLsEsm| | RITENEBR
B & 8 # il NEEAGE B o= ||HeBE0ss0sEs)
I R =) 1% W = | B{r| B B i | & &8 i Hi | & 28
10/ ERERED RO EEEHE 0.840| - A 53,200 44,688| - 53,200 44,688 0.840| 44,688
M FEEHEHREEE |[ReFEMERERSE 0.840| A 41,500 34,860 41,500 34,860 0.840| 34,860
12/MERES ReFZ M EEEHEE 1.680] A 31,400 52,752 31,400 52,752 1.680] 52,752
x | 716|BE : 0.500] - kg 58 29| - 0 0 0.000 0
500|FBHE HESEIIRTIEE 10.000] % 29 - 3] - 0 0 0.000] 0
723 T KB BB [worceme. x7v78m 0.700| H 1,092| 764 0 0 0.000 0
5 133,096 132,300 3.360| 132,300
B i 1.0 [E&Y 133,096
EEAGHE 132,300
FRMIEE 796

data (BZ) EREBEEZ 0338/3% AE30miiz BIEREI2
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S E L
e 3214 | | BE 55 ERES| 3214 |EERNEEE
BHifaH fTeathE I-FNo ek B 1.00 YERLE L =X EalauEER| | ETTESERHR
B & | BES 5El ) _ 2 28 NEEANEE (BEOSLOMHES)
HE|HEN| H P H B = | Hfr| HE B | & 28 H# | £ %
2| FEHEER ReFEITEEERE 2.500] A 64,800 162,000 = 64,800 162,000 0.000 0
3|HRETA ReFEITEEZEHEE 1.000] A 57,000 57,000/ ~ 57,000 57,000 0.000 0
4|5 ETB R6FEMTEEERHEE 1.500] A 47,200 70,800| 47,200 70,800 0.000 0
5 ' ' ' 289,800 289,800 0.000 0
B ghii 1.0 XHY 289,800
EEAGE 289,800
ZDMREE 0
datd (j6%) BFAx1 0. BEaE. MARHE
7




= = {8 Bl i == "HEA
T 3215 EE 55 ERED| 3215 |AEOKEEER
BWZH AR—)) BERNEERE I-FNo BB 1.00 YERELL T wEalaLBER| | RITENEBH
B & _ _ - 3 NEEAME o= |[SeE03s05%S)
e 7 5 ® W & | B B i B i | & 2 " HE | = 28
28| KB ERTF SHGEIAFE 1540 A 21,700 33,418 0 Ola xT 0.000 0
45|35 51.700] L 138 7,135 0 0| xT 0.000 0
33|y UEH E 20tRIL—AFE 9.070| B5RE 1,770 16,054 0 0 0.000 0
5 : 56,607 0 ‘ 0.000 0
B {i 1.0 LAY 56,607
EEALE 0
ZDMRE 56,607
datd (=) ZH~IRE FiE136km 1=272/30=9.07 o =130/760=0.17 B =132 %x0.043=5.7 Gk
7 !
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datd (16%) FEIEIRE1.1

S A R Bl & 2N
e 3217 | | BE 55 EGE=| 3211 |mEnnEEE
BHAF FTEERE ' . I-FNo ER D& 1.00 ERCE G| FEFE |amauszy|| RETENZEBX
B & FAEEEHC dZKmEE0.6km2LLT _ # &8 NEEARE (REDIB DI ES)
HE|EEN] B i # B = |Hf| H ff B M| £ 4 HE | € %
1EE-FEE RéFEMTEELERL 1.100] A 75,800 83,380/ 75,800 83,380 0.000 0
2| EEHER ReF T EEEHEE 1.650] A 64,800 106,920 64,800 106,920 0.000 0
5|KEfiC R T EEZEHEE 1.650] A 38,400 63,360| 38,400 63,360 0.000 0
5 253,660 253,660 0.000 0
B fif 1.0 EFELY 253,660
EEAGE 253,660
ZDMEE




=R & 8 Bl i 2= | "SEA
FEHES -3218 | mE 55 E5ES| 3218 |meEaneE=E
BEmaF | HREEEK 1-FNo ER & 1.00 YERCESGI| XEFR  |mEscauszr| | RITENERR
B 5| REEEY2 WHREER0.6km2LLT _ i 28 NEZEAGE B = || REeSs0sESs)
e b ) & B = | B{u| B B i | & & i H% | = &
2| FEEHE ReFMTEREAEHE . 1.650] A 64,800 106,920| 64,800, - 106,920 0.000 0
3|FEIA ReBZfiTEREEHEE 1.100] A 57,000 62,700 57,000 62,700 0.000| 0
4|FENB R EREEHEE 1.650] A 47,200 77,880 47,200 77,880 0.000 0
5 » 247,500{ 247,500 0.000 0
B i 1.0 EFELY 247,500
EEAGE . 247,500
ZOMEE 0
datal (f5&) fHIEIRZ.1
7
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B ERFATHR _ _ 2 2 NEZA TS B = ||RE0SsonEs)
I b 7] % B = | BE{u| B m B | & &8 i Hi | = 2
* 50 ZBIEEE SH6EIRFE 0.630] A 21,900 13,797 0 0 0.000 0
* 51|80 1EXE SH6EIAFE 0.630] A 23,300 14,679 ) 0 0.000 0
500|EE BRI REE 6.000] % 28,476 1,709 0 0 0.000 0
5 - 30,185 0 0.000 0
B fifl 1.0 KK 302
EEAGE ‘ 0
ZDMEE 302
datd (=) FIZ =50 A =e EH Ma B2 REes
7
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